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[\)

D
—
W
at

\VARR 4
0
iy

5.45

B

Fo] A7) S Lrol AL 47 ADSE et 571 7
245 Fo AU Fold 27 AR WE 4 Gk AP
2 ak T A 20 VY AL A% G Ae] 58 BHED 6.54

—

2} 1.2 Yyt
watA] 6.54 = 1.2 = 5.45 YUt




B <
[T
N~ o

e

=
[=

=
V=
a
Il
Ne)
S
S
— 9
oo m
)
oW 0
[\
o
g
o ..
..I__o .A_I
T o
B 2




gAY Blo] L7t 6.35m, BIHA Ho] L7} 12.5m & T o] A2
717} 0.8m 4 Zeh o] 294Ut ol Tm;o A o]z
2ol o] e B melA| T

ngl

A 4
n
=

glo| =& Fet o] T30 B g & Ad s K27k -5t
Z}7F o] Y 2] 9] 92 Rt

(ke Ho]Z)=6.35+0.8 =7---0.75

(WA Hlo]Z)=125+0.8 =15---0.5

(‘g2 A Hlo|Z Zo]9] 3H)= 0.75 4 0.5 = 1.25(m)
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